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Godavari Talent Test VI Class Maths

1.

How many extra zeros are there in one billion as compared to
ten crores ? &8 HVAHS B 10 8&° B0 ) ayen

QENS ? ( )
A)1l B)2 )3 D)6
The largest negative inte@er is .......c..cceveverveuennee ( )

o8 _"oafg 2es a’gy’g N

A) «~ B)-1000000 C)-1 D) -99999999
The difference between all the even numbers and all the odd

numbers from 1 to 100 is. ( )
1 200 100 385 H§) 98 Loggen SoBan B2 dogge B0
A)150 B)50 C) 200 D) 60

Number of matchsticks needed for writing 52 in Roman
system is ....52 & 8558 Sogges® TPaines ... of Hyeo

SERNISEN ( )
A)8 B)5 03 D)4

Sum of the all the integers that are greater than - 9
butless-5....ccoorvinienennn - 9 %) BN 52 - 5 B SENS
PP dogge Iwdo ( )
A)-31 B)-13 C) -21 D) -28

The greatest 4 digit number exactly divisible by 12, 20,25, 30
12,20, 25, 30 & grAosat 4 ©o8en Ko reg oy ( )

A)9900 B) 8900 C) 9800 D) 8990
The number of even multiples of 17 that are less than 100 is

100 &%) 17 @) 58 Here Hogy... ( )
A)3 B)2 C)4 D)5

Ifa five digit number 2785x is divisible by 11, ( )
then the value of x is 2785x 113 d33j50re grhosadd X Dend

A)l B)2 C)3 D)5
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9.

10.

I1.

12.

13.

14.

15.

16.

17.

41 +9 X 2= ... (
A) 738 B) 100 C) 59 D) 758
Sum of the numbers from 150 to 200 which have

8 in the ones place.150 o805 200 © &y 2,88

@;?60@5’6 8 o0& @08 INBLW ... (
A) 890 B) 790 (C)980 D) 960
The HCF of two consecutive even numbers is (
2.8 SB3st %) Both HBDogge K.5P.57 ...
A)8 B) 2 C) 4 D)1
The number of factors for the largest 2 digit
number is BoXoBen Ko & Sogy SeBerosTY Sogg(
A) 5 B) 4 C) 6 D) 3
The value of is E‘F%—E‘FL 1S Dend (
005 05 50 0.05
A) 100 B) 101 C) 1010 D) 110
figures of 'four tenths, seven thousandths in (

decimal figure .45 20, 78 $&PRrodsm woges®

A) 047 B) 0407 C)0.047  D)4700
4259 cm in metres.. 42590.8...&nexss8 (
A)425.9 m 5B) 4.259m &C) 42.59m & D) 0.4259m
AesL 46,61

—59 =then ®ond —5.9 = (
A)079 B) 79 C) 79 D)0.79
J0.01++/0.04 +/0.09 = (
A)1.4 B)0.6  C)l4 D)0.14
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18.

19.

20.

21.

22.

23.

24.

Aratiois 7 : 5 if the consequent is 35, the antecedent
DY 7 15 Hobcko HEHES™ 35 9008 SIPBIRIS 0. .
A) 49 B) 35 C) 25 D) 21

The mean proportion between 0.02 and 0.32 ( )
0.02 800 0.32 o gl eoard SHggsoo

A) 0.0008 B) 0.0064 C) 0.64 D)0.08

Roman Numerals for the smallest four digit number is( )
SreniioBen Ko D) oy 08 wo8enst

A) X B) M C) C D) D

The ratio of the number of boys and girlsinaclassis 5 : 4
and there are 72 girls then the total number of students in

a class a8 88586° erends &r@80 B 5 : 4 HB & S8K

8&° 72 H08 rden ot wund & S8K8S° Iwdo Dyt

603;)?3 ( )
A) 9 B) 172 C) 162 D) 152

The difference between the place values of digits
3and 6in 1.2312 and 2.1456 ( )

1.2312 080w 2.1456 éoapegeJeS‘LS 3 B 6o BwE)

@;26 Dende BEBo

A) 6 B) 0.294 C) 0.0294 D) 0.00294
Rahul purchased an article for Rs.200 and sold it with

10% loss. the selling price of the article. ( )

TS 2.8 SRPK0 K. 200 o ' 10% IRB0550
008 & P WIS Jo

A) Rs.190B) Rs.195 C) Rs.180 D) Rs.185

0 (zero) is introduced by (0 &> HIF2EZI8) ( )
A) Indians (m080%%) B) Chinese (30csmen)

C) Americans (©3:885p) D) Russians (651?3:63)
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25.

26.

27.

28.

29.

30.

31.

32.

33.

Which of the following is a prime number? (
8od °8S° el dopg

A) 143 B) 97 C) 291 D) 3237
909000 +9090 =159 — ......... (
A)100 B)59 C) 159 D) 95
6-[5-{?-(2-15)}]=3 (
A) 1.5 B) 2 C) 2.5 D) 1
Difference 0 99.999 and 100 (
99.999 58050100 Sogge Be5S»

A)0.001 B) 1.000 C)0.089 D) 1.111

The cost of 1 lit, of milk is Rs.7.50, then the cost of

30.5litof milkis .... Rs 1 &6 Sren 9607.50 &earcdhen

oowd 30.5 68 o 8. ...... Broaecien (
A)225.75 B) 223.75 C)228.75 D) 226.75
The sum of two numbersis 31.021, if one of them is

11.56, then the other one is ...... Bod Dogyge odo

31.021 , a8 Kogg 11.56 eowd BokS Sogyg ... (
A)19.561 B)17.461  C)I18.641  D)19.461
In the division of 1646930 <+ 785 , quotient (Q) and
remainder(R) are ...... 1646930 =+ 785 griss®sns®
iposn(Q), $HBcm FEn(R) eo...... (
A)Q=2098,R=38 B)Q=2098,R=0
C)Q=2097,R=1 D) Q =2096,R =2
CDI+V+C+X = ... (
A)506 B)401 C) 406 D) 516

The greatest number that will divide 37, 50, 123 leaving

remainder 1, 2 and 3 respectively is ..... (

37,50,123% & gfers} éoapegé PR BhSnen SHBe 1, 2,

5oBAiw 3 en Hraw
A)9 B) 10 )15 D) 12

Maths
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1 3 1 11
w3 (
A) 0 B) 2 0) 1 D) 5
35. The weight of a baby became 6.25 kg from 5 kg.
The percentage increase is e.8 & @) 5 & Kol
6.25 & % BAB HOAS S0 (
A) 20% B)30% C) 25% D) 45%
36. 315 isdecreased by 6 %, it becomes..... (
63 % o 805 315 ... Hiko0
A)3001 B)310 C) 294 D) 305
37. If 2=—X=1, thenwowsd X=..... (
A) -2 B) 4 C) 2 D) -4
38. Number of extra zeros are there in one billion as
compared to ten crores (
2.8 HOADHSDH H8 s MPBYKHD ... Ten DN
A 1 B) 3 C) 2 D) 5
39. ... should be added to —7x to get 7x (
_TxE, TX ©Heb... Eoddss
A)-x  B) 7x C)  -7x D)14x
40. "Pay for 1 shirt, get 1 shirt free". Under this offer,
the discount% got s ..... (
a8 &) o8 a8 i) adB0 oF) ©EOSF Bom.....%
A) 25% B) 50% C) 100%  D)75%
41. The plant which folds when it is touched (
e80T ZntHHER F0E) ...
A)Lotus @8 B) Sunflower oasizlevlgslas
C) Water lilly o3 D) Mimosa Pudia &858
5
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42. Alexander Fleming discovered ( )
) ©Brpod RMoR SHTHS
A) Vaccine &sesoo B) Pencilin 2008
C) Polio drops &#0& 8)en D)DPT &.2.8
43. Anexample for fungi 8dogred eorieden ( )
A) Clamydomonas senefs®  B) Moss &5%
C) Mushroom EETEND D) Fern 38
44. This is a desert plant 88 2.8 o8 3w¥) ( )
) A) Beetroot deréhoss  B) Carrot Shrel]
C)Cactus Blesm@sntd D) Banyan tree 53¢
) 45. Brain weights about .....grams ( )
L 2By Jdore ... (TeS0en
A)1200 - 1400 B) 120 - 140
C) 1600 - 1800 D) 600 - 800
) 46. One of the following is not correct pair ( )
Bod T’ KBS 28500
A) Chilli - Little leaf disease 085 - 308w B1dehy)
) B)Groundnut - Rootwilt JH3BK - FHAG
C) Orange - Mosaice DTPON  — IVPAS
D)Padddy - Blight ad® - o0
) 47. Polioisalso called as ( )
DBOTe TwE), HOTE DD
A) Typhoid &aran& B) malaria £8805%»
C) paralysis 28805 D) Infant paralysis8:garso
48. Different one in the following ( )
) Bobaeds® o @ond6
A) Typhoid  &zron& B) Leprosy &spaese
C) Small pox es¢rerssy D) Tetanus &oxso
) 49. Conduction of heat takes place in ( )
6533985770330 2058° rHEod
A) Solids goSswroren B) liquids &aeen
C)gases a@csoHen D) solids and liquids

6
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50. The motion of the arms of a soldier marchin along 58. The place where the temperature is high ( )
the road is &8 8% fHow 2G> ardd BewSHED &8 efdore &) (@Pozren
T8 Sehen Sctn SoD550 ( ) A)Lakes $8ken B) Forest e&syen
A)circular &zeses B)oscillatory — es$8$5088m C) Desert ooetoeo D) coastals 88jgrosre
C) rotatory (gomsosss D) vibratory  Sows Sesie 59.  Different one in the following ( )
: 7 BodarS® DHHBoaSs
51. Inascending order one of the following is correct ( ) A . .
. ) Electric bulb Htx® eey B) Torch light ¢6y8¢5
o85S (Bos® (Bohards® OB KBwonHs . K -
8 208, 85, C) Candle light s°0&& &0 D) Sun &gt
A) m, em, km, mm » 90, 8ab, &osd 60. The substances which allow light to pass through  ( )
B) mm, cm, m, km 0, 20, &, 82, them partially are called translucent substances
C) cm, mm,m , km 202, v, I, 82 57009 istbor Fodorr BIBOHED SETo. .. 0ot
C) mm, m ,cm, km $08b, av,20dp, 8 A)opaque substances 5008 JB8SE & Seegren
52. The surface occupied by an object is called ( ) B) transparent substances ar8sgs sorgres
a8 S0H BwE) SNBSS ..... WOLPE C) translucent substances 288 @vécﬁéé Segren
A) Volume $p585measn  B) area S5 D) self-luminous :oog(ﬁ)o @s%sve»
C) length & D) capacity Qrsogseso 61. Heatis measured in ego8....8° Seorkt ( )
53. The SIunit of force is 2e~Q8 SI [Heasin ( ) A)Candles So&&) B) Caloriesg8&%en
A)newton (N) &8 B)Joul &6 C) Calaries so8% D) Watts a»¢5)
C) erg N3] D) dyne &8 62. Lighttravelsin.... s°08....50808" Hardod  ( )
54. One of the following is bad conductor of electricity ( ) A)Circularpath ~ &zese8 B) straight line $6¢0s
BTV i SETIrERD C)curvedpath &g  D)rotation [&55oea
A)acid @mﬁw B) coal &1 63. One of the methods of conservation of wateris  ( )
C) Didtilled water 35 oo D) humanbody $x558860 R SosEe BEB s
A) evaporation g3y EGeasin
55. Theratio of Micron and Angstrom ( ) . . AT
c B)rainwater harvesting 58506 e
DS 5B wor(rve VY C densati EJ oo
N 10°: 1 B)10:1 ) con ensation g
) ) " D) deforestation ©&d) D
C) 10°: 1 o o D)10%:1 ) 64. Which of the following contain a magnet in it ( )
56. The first scientis that identified force experimentally ( ) BoBTRSE eabIoBo EDAHOEE
“Doiin” B RS HEoDS YRS A) Radio 3&&@w B) Torch ¢rB)
A) Archimedis ©8)3&%  B) Louis Pasrteur erond 3045 C)Fan  axS D) Compass &
C) Newton — &o5608 D) Fleming 2on 65. The device which makes contact between two
57. Electric charge is measured in ( ) terminals is called ( )
DERTRTR) ... & T Both ool DD HOEBL
A) Coulomb&reross  B) Ampere ©0bsH8 A)Filament S0 B) circuit Sedbo
C)Volts ey D) Watt a6 Cyeell  otodiw D) switch &)

7 8
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66.

67.

68.

68.

69.

70.

71.

72.

73.

The energy stored in the water behind a dam on

a hill-top e84 308H%) D38 ) 48 ( )
A)Heat a8 B)Elecrical 8

C) Chemical 8rc5% D) Potential = %8

Tuberculosis is carried by ( )
jsfows &3 TRO° 3%58) BoLHEOE

A)air v B) water D

C) insects &oseen D)contact =%

Water does not stick the surface of ....1eaf ( )

295 650800 P A& woensiHh

A) Tulsi &e%B) lotus &8 C) neem 35 D) tamarind Qo
When no force acting on a body, it must be ( )
a8 S0 P 200 HABHI0S ééé}....?gé’%@s Slelneta)
A)moving Sebos® doenod B) at rest @0

C) in uniform motion%Hseso D) either B or 8°C
Earth pulls every object towards it with a force called( )
509 450 B B IHER werR).... WorD

A)friction 588 B) gravity #6sxg5:$
C)tension $8& D) collision rog&se
One of the following is an example of mixture ( )
(BoBTTIEE 2,88 (FLrI8 TS

A) Air red B)CO, C)HO D) Sugar 8%
... 1s protected by the skull ( )
.o BPOSDE 880000

A) Heart 5550550 B) Liver se8chsm

C) Brain & D) kidney $xo(@20%50

The first man to step on the moon's surface is ( )
SolBR B FgB0te TRBHS HIR

A) Yuri Gagarin o&6 568 B) kalpana Chawlaseyoearsp
C) Neil Armstron 96 e§yspofi D) RakeshogR

One of the following not spread by housefly ( )
BT’ &k TR Bose

A)Dysentery 5508%5wen  B) Filaria BB
C)Cholera geoe D) Typhoid  &graw&

9

Godavari Talent Test VI Class

74. Amirroris ego &8
A)opaque  08ITBESD

C) transluent a8 rEe5EE50
One of the following is magnetic material
BobTS® @ahI)es Sergo
B) Copper

75.

76.

77.

78.

79.

80.

81.

82.

83.

A)Steel &%)
C)Nickel 88

One Angstrom = .... Meters 2.8 @0z

A)10®  B) 10"

D)Aluminium  eexeg0dc5so

C) 10710

(

Social

)

B) transparent 3r5egE50
D) nonesdbsed

o°A

D) 108

The part of the plant that performs photosynthesis
in the young plant is 3n&) 88 e5ptd 88eeessy
QoG (BOD 23T o), oK
A) root 3% B) stem seoism C) leafez D) flower 35
An example for annuals
BobTE® ETHELD

A) Paddy %8
C)Neem 3%

A)Pigeon ar850
C)Fish 3%

A)sirisis 282D
C)khaddar spegg

B) Carrot
D) Coconut
Animal with three chambered heart
Sl Ko HoR EOAS £

B) Cow &
D) Lizard 29
Long, hair like fibres on cotton seed are called
D8 FFrHod Aot

S‘°§6é5
§°aaa)6

B) keratin Soee3&
Does

D) lint

Number of planets in Solar system
BEren0aSt (K:5ten

A)8  B)9

C) 10

D)7

Nebula' hypothesis was put forth by

“i08” HB8)S Reposd) (HSPE0NIG
B) Chamberlain =r0e8S
D) Limitier
"Huodor' means “°¢58” eodre e98o
B) Rock 3o

A)Kant 5o
C) Moulton &8°gS

A) Vapour 98
C)water 0%

D)Life
10
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